gfsana
5ix2014091112 +F000 UGRD200mb

L™, o
L

§OW AW
Mir=-J32.24
M=, O

e W MW O BOW S0W 0 IDW

Waarr=B.92473
RM5 =170TZ7

H15W

six2014091112 +F000

UGRD200mb

=

50,
_ =

[

a

Blw TOW EOW 2 SOW 0 &CW  S0W DWW [
Wearr=£.4 1750
AMS =13.7178

H15W—-qgfsana
six2014091112 +F000 UGRD200mb

-] LA - * El
& : ety
b e -\__h ‘5

\ : B
g L:.I
/
%
n
S e 0 ] (L= d

POF  ADN 7@ W SO
in=-X2 55 Mean= 0 467134

=11, 58

UG =4.0530



fsa
5ix2014091112 gi- FOO6 UGRD200mb

5

."_\I ] L™,

SO -1 T L] b BIW o o] 0w 1] [L-. 4

Mire=-30.8.3 Weare={. 12414
M=, T8 RMS =17.11Z3

H15W
six2014091112 +F'DEI'E UGRD200mb

."_\I ] L™,

i
lil- S
l }
Ww ADW 2 TUW 2GR DW 0 &OW 0 SPM DOW 10w [ [T
Mir=- 2146 Wearr=E01816
Mav=d43.7 AMS =13.3088

H15W-qgfzana
six2014091112 +F 06 UGRD200mb

ey

RO
1,-’—'{
'!_
-h-I:,-"
I,
{.
|
)
. g L:"l
/
,
1 |
¥OF  ADN 7@ B W W W 10w ] [£-"
Wn=-13 mans -1 ||:|5|:|+
=173 RS =4 15473



gfsana
six2014091112 +F012 UGRD200mb

=
."_\I ] L

N :ﬂ

SO -1 T L] b BIW o o] 0w 1] [L-. 4

o b |
BAry=—gd

Mar=37T .03

HWaare=56. 70205
RM5 =17.1T33

H15W
six2014091112 +F012

UGRD200mb

=4
[ s L™,

) "
.L‘\ " -

/

W

5,
- =

—=

::ﬁil

oy A T (2] oW L=y b ] o] b} 1]

Mire==17.55
Mar=48, 33

Weqgrr=T.TH541
RM5 =13.0424

H15W-qgfsana
six2014091112 +F012 UGRD200mb

-] L™, o
L

e aw e W BIw 3T e bl g
=l S man=—1 L1157
=14, 48 EMG =4.71M7



gfsana
5ix2014091112 +F018 UGRD200mb

L™, o
L

oW AW
Wir==J5 44
Mae=37T .37

T e e L=l SE e
Wegr=G. 16121
RMI5 =17.6113

six2014091112 +F018

H15W

UGRD200mb

s L™, -

Srat Lﬁ
«: ’f_

-
f
3

.

oy A T (2] oW L=y b ] o]

Mire=-11.08
Mas=d4.3, 06

Waqre=T.TH034
RMS =123.0041

b}

H15W-qgfsana
six2014091112 +F018 UGRD200mb

L™,

L

e aw T e W BIw 3T e bl g 1] L= 4
=40 0 man= -1 JECAT
Wgr=73,08 RNG =5007881



gfsana H15W H15W—gfsana
six2014091112 +F024 UGRD200mb six 2014091112 +F024 UGRD200mb s:x2014091112 +F024 UGRD200mb
won T B r T - oon T L 7 T - oo [T r Ty
: E__,%h ‘IEI 40 1 : E:%h ‘jﬁl ™ Rt t . S EI
*n - 3 W 30 = Ce 30
- Y . B =
—7
. ] 15
w
1
-1
-5
| =1d
:' -15
R -3
-25
-30
1 .
-840

Mir==25.8 Hearr=F 01714 Mirr==23.75 Wear=7.703 Win= - 1. 75 Mman= -1 .1|:|+
M= 3E 0T RMS =17.737 Mae=45, 25 AMS =1%.0117 =18, 19 RUG =5 15878



gfsana H15W H15W-gfsana
5ix2014091112 +F030 UGRD200mb 5ix2014091112 +F030 UGRD200mb 5ix2014091112 +F030 UGRD200mb

Ll I N N - ILEJ L L - EEEE T -+ '.EJ oon T L =4
) = ol = -'E Tl .

: k

BOF AW TOW 2EOF MW 2 &0W 0 W W W [ L= WF AW 2 TOW EOF MW 2 &0W 0 W W 10w [ £ OF AW T7E 00w 55“
Mir=-J22.2 Wear=§. 35535 Mr=-21.7 Waar=7.0114% = -4, 24 b= 14438
Mo =GN 0 RM5 =18.0328 Mae=48, 5 AMS =15 2070 =18, 78 RWG =5 8T

L) o e 10w 1] L=



gfsana H15W H15W—gfsana
six2014091112 +F0368 UGRD200mb six2014091112 +F036 UGRD200mb six2014091112 +F0368 UGRD200mb
T : R 3 T |3 0 eon T T LA = | "0 L™, T
. =: - . Y : . =:
i } El w0 ) E‘_’_i%h rﬁJ 0 )
1 o .- L1
] 25 1 28
) n - _'E'_{ k)
Ll ¢ | 1%
- LT 0
\u_.l' 1 1
=, E« =1 =1
- =&
=10 =14
=15 =18
=3 , =30
-8 =25
- gy, =50 =80
| } |
:n'ﬁ -1 rE [n, ] H'.‘l'l & Eo ) ey 10 (1] L= 4 O s e e . O aom | e 10 1] L= -"-H_:'EIII;HI'." TrE mﬂ::_.l JE'.‘E. aCw o, ) e ) 10 (1] (L=
Maret? 7 RS = 1BATE Ly Mg =15 9108 — RUS =5.7280



fzana H15W H15W—-qgfsana

. 9 . .
52014091112 +F042 UGRD200mb six2014091112 +F042 UGRD200mb 522014091112 +F042 UGRD200mb
on T T L = |7 - won [T Tl = |3 20 =
. § ) . L )

i Y El A0 ) Y "J A0
30 =" 30
) m )
15 - 15
L[ Hn ,r--t“'*--v.lh L[
1 Hm "\-\_,—'r 1
-1 -y E‘ -1
=B 109 =&
=10 =10
=15 e =15 =f
=3 =30 =%
=I5 a5 =5 =11
- -3 =13

l s . | —40 -8
-0 =540 =17
| )
S ars T e e L=l SE e Rl 3 1] (k=4 O [ 1§ o (2 ) =W L=l S e Rl ) 1] L= 4
Mir=-27.94 HWaqrr={ 54540 Mir=-20.76 Wearr=E.20 106

Mo =0, 14 RMS =187 X33 Mae=33,006 RMS =123832Z3



gfsana H15W H15W—gfsana
k2014091112 +F048 UGRD200mb 2014091112 +F048 UGRD200mb six2014091112 +F048 UGRD200mb
e L” g L, : () L1H] i " g W : [ L H] e L2 bty :
¥ b k: i L
. F {%1‘5&1 4 ’ £7 ' ‘_EF 20
= 30 = S 30 St
-"1‘_- 25 .-1‘- 75
m B 0 8 0 m
_-'E_ 15 v _-E_ 15
L[ 0w 200 ] g
1 1 ot "\_H_.I_
; : 7
-5 =& 108
. =10 =10
::II o :I =15 1= W
\, -0 h, -0
-25 -28 .
| - 1 -39
. — —dd —dd -
=50 =540
l i l :
e s s (e, o L= ko] e ) bl ) 1] [}= 4 F i s e e = L= o) e bl 1] (L= d o a0 TirE (2] O S e 0 ] (L= d
Mirr=—28.5 Wear=R.53164 Mir==21.11 Wear=B.35807 e = 33.00 Mastm=1.11350

Mar=05.77 AM5 =1B.AZ6S Mar=07.33 RMS5 =15.8408 War=24,E2 RUZ =El4lis



gfsana
six2014091112 +F054 UGRD200mb

-] L™, o
L

H15W
six2014091112 +F054 UGRD200mb
C g N, =

oy A T (2] oW L=y b ] o] b} 1]

== 2181 Wearr=E0133]3
Mae=g3.81 AMS =18.482

H15W-qgfsana
gix2014091112 +F054 UGRD200mb

-] L™, o

Lo
Win=-1£.T7

war=1

o T e e g BIw 3T e bl g 1] L= 4
ean= -1 (0506
EM5 =B 47745



gfsana H15W H15W—gfsana
six2014091112 +F060 UGRD200mb six2014091112 +F060 UGRDZ200mb six2014091112 +FO060 UGRD200mb
L5 & L, : [ a0 e L5 8 . [T 50
Ll : f"% L A-E&J 40 % : \ "J a0
= - 30 30
m 'E'K ) )
_-E_ 15 18
1) 0
1 1
-1 -1
-5 -5
=14 =10
| =15 =15
*, -3 -3
-5 -4
-3 -1
i —ad —40
=80 =54
| }
“n-H:'E: ;? T H'Tl:-rr B;!H"‘Elq L=l SE e Rl 3 1] (k=4 “n_ujl:: Bﬂ:’ o H'zTni-rr :?'ME L=l S e Rl ) 1] L= 4 -"-H_-'!-. uﬂm' T mﬂ:: " 6?551 BIw 3T e bl g 1] L= 4

Mar=T7Z.18 AM5 =1E.0442 Mar=05.19 RMS =18.6765 =235 RET =EAPH



gfsana
six2014091112 +F066 UGRD200mb

L™, o

oW AW
Mire==31.31
Moo= T2 .05

AW DWW &OW W I0W
HWaarr=10,2764
FM5 =E.6804

0w

H15W
six2014091112 +F066 UGRD200mb

Ww ADW 2 TUW 2GR DW 0 &OW 0 SPM DOW 10w [ [T
Mire=- 2036 Waarr={ 40362
M=, el AMS5 =18.0808

H15W—-qgfzana
six2014091112 +F066 UGRD200mb

L™,

L

POF ADN 7@ W SO
Win=-31E% Mean= ~0 T2ETE1
=74 M5 =LBETIT



gfsana
six2014091112 +#F072 UGRD200mb
on T I = tﬂﬁ
} -1
5n i ‘-5-
- f)
B
W0 |
L
A
- 5
L3
|
ot
! ;
“n:u_r:? ;m‘ T H.T:-u;f_?;f.: KW @ 2SW 0w 0w ] [T-3

Mar=TH.E

RMS =B.5308

six2014091112 +F072

H15W

UGRD200mb

L™, -

oy A T (2] oW L=y b ] o] b}

Mir=-11.36
Mar=i1.51

Wearr=F. 07543
AMS =T18.4771

H15W—-qgfsana
six2014091112 +F072 UGRD200mb

[4 LR G - k
3o o
i

L) o e 10w 1] L=

T e W
Mean= ~0 §TOTH
Br=TE.3 EMG =L7E7THS




gfsana H15W H15W—gfsana
k2014091112 +F078 UGRD200mb 2014091112 +F078 UGRD200mb six2014091112 +FO78 UGRD200mb
e IS < bt : L 80 i L2 2 e, . [ 50 L . e, i LY
' : .,Eﬂ?"h J‘S-A 4D 1 : @';ﬁl ™ 1 " EI
30 50 e
'E'k' 20 'E'k 20
] 15 el 15
0 0w
1 1
=1 =1
-5 -5
=10 -10
-5 -15 -7
", =20 , -20 -3
-25 -25 -11
=30 =20 =13
i =i il =i =15
-5 -50 -17
[}= 4 “n:f.j'zz ;:I:" e H'T:_.-r B;!H'.:IEII.'- L= o) e bl 1] (L= d -"-H_-!l::. ‘!um‘ mﬂ:: " :'EE'.'SL. L) S e 0 ] (L= d

Mar=35.14 RMS5 =16.4593 War=ri.0 RUZ =EOTHH



gfsana
six2014091112 +F084 UGRD200mb

-\.t -\
&y

."_\I ] L

L H

308 A0W TUW 2 ER W 2 &OW 0 SPW 0 DOW 10w o
Mir=—25.7 Waare=10,.8020
Man=1.0 FM5 =18.22.20

H15W
six2014091112 +F084 UGRD200mb
L L o =

Ww ADW 2 TUW 2GR DW 0 &OW 0 SPM DOW 10w [
Mir=-27.02 Weare=10.2T06
Mae=3S A7 AMS =18.8853

H15W—-qgfzana
gix2014091112 +F084 UGRD200mb

-
i

T e e BIw 3T e bl g
man= —0 521050

W=7 BHS =EA7301




gfsana H15W H15W—gfsana
sig2014091112 +F090 UGRD200mb ix2014091112 +F090 UGRD200mb gix2014091112 +F090 UGRD200mb
[ < bt : [ 50 e L5 2 bt : [ L1 e i
i ™ El " ) ™ "J an ]

- . 30 A
-"1‘_- 25 .-1‘- 75
_'? o _"’ kd
-E_ 4 -E_ 10
- & 10

\u_.l' 1 1
=, E =1 =1
=B =&
=14 =10
=15 =15
*, —30 , =0
-8 -5
=3 =30
il =) il —d
=50 =540
| } / §
SO -1 rE [n, ] o & Eo ) ey 10 (1] L= 4 O s e e O aom | e 10 1] L= O A TrE [, ) B o, ) e ) 10 (1] (L=
Mir==24.] Weare=11,3633 Mire=-J8.32 Ware=1 06867 iein= - 14.£1 bear= L GPEST

Mar=07.2 RM5 =18.2311 Mar=35. 45 RMS5 =17.0357 =237 REZ =EM 12



gfsana
5ix2014091112 +F096 UGRD200mb

T LA T

i .E_-_.i' -.__h 4‘5

308 A0W TUW 2 ER W 2 &OW 0 SPW 0 DOW 10w o I
Mir=—24.9 HWaare=11.219%
Mae=33.4 FM5 =18.40728

H15W
six2014091112 +F096 UGRD200mb

[ s L™, -

] H

Ww ADW 2 TUW 2GR DW 0 &OW 0 SPM DOW 10w [
Mire=- 2653 Wearr=10.575
M= 30, Ttk AM5 =18.7BT72

H15W-

feana

six2014091112 +F096 UGRD200mb

L™, o
L

-~

o
Win= =12 23
Wgr=73,01

ECEC
Mean= —[ §44824

BMS =T 43323




gfsana
six2014091112 +F102 UGRD200mb

o 'r-\.'__\_h ] L -\.t = l".__-‘_;d
. ; 4
O30,
Em —
1)
4R
%
-
30w { =
o \HH_.I'E‘
-
10§
(] |
h%
firs
1
o
1
rd

S ars T e e L=l SE e Rl 3 1]
Mrr==20.97 Haar=11 4546
Mar=3d, 24 RMI5 =18.7423

H15W
six2014091112 +F102 UGRD200mb

T LA o

-«.__h rg
-

-

] H

pOW AW TOW 2 EOW 2 SOW 2 BOW 0 S0W  DOW 10w [ 1€
Mir= =504 Waarr=10,8431
Maa=ds, 7 RMS =17.0804

H15W-qgfzana
six2014091112 +F102 UGRD200mb

d L™,

Y

e

F ]
n=-34.17

Wgr=24,148

o T e W
Mean= ~0 515453
EMG =T.A53



gfsana H15W H15W—gfsana
52014091112 +F108 UGRD200mb six2014091112 +F108 UGRD200mb 522014091112 +F108 UGRD200mb
an T R O =4 T ) on T : EEEE T T a0 Bon {7 L~ =
) ’ : El i . ) : ﬂ%‘h ‘jﬂl 40 - i t

30 =" 30 = *

) ) ?,.1" ) o

_-E_ 18 _-E_ 15

e 0w 2 | et
1 1 g I
-1 -1 L=, l
-5 =& 108
-1 =14
=15 =18 o =7

*, -3 *, -3 -3
-5 —38 . -1
-3 —1 -13

i —df i —di - —18
-5 -5 =17
| } | )
S ars T e e L=l SE e Rl 3 1] (k=4 O [ 1§ o (2 ) =W L=l S e Rl ) 1] L= 4 e g aw T e e g =) 3T e bl g 1] L= 4
Mirr==3547 Weare=11,2116 Wirr==37.88 Wegre=11,15032 wn=-X1.14 bman= 0 GE13F77

Mar=35.08 AM5 =15.71354 Mar=45.41 RMS5 =17.316 War=X1.33 REZ =THATHIR



gfsana
six2014091112 +F114 UGRD200mb
e L5 X =N - % 13 ,,H
. \
4om £h
B
W9 |
L
A
1]
5
L3
|
ot

SO -1 T L] b BIW o o] 0w 1]

Miry=— 24 (i HWaare=11, 3548
(LT T FM5 =18.4773

H15W
six2014091112 +F114 UGRD200mb

[ s L™,

| )
Ww ADW 2 TUW 2GR DW 0 &OW 0 SPM DOW 10w [ [T
Mire==28.01 Waare=11.3367
Mae=d43 8 AMS =17.3133

H15W-qgfsana
six2014091112 +F114 UGRD200mb

i L8 N G 7 ".,El
e i | 5
EiH
oy
",
. 4
—}
s
W]
Fo | \_ﬂ_.l'l
-
108
:.I
1 !
b
105
n
i

W GO MDW  OW W SOW 10w ] [£-"
Mean= -0 180634
=0 07 RS =5 14718




gfsana
six2014091112 +F120 UGRD200mb
e L5 X =N - % 13 ,,H
. .
4om £h
B
W9 |
L
A
1]
5
L3
|
ot

W AW
Mire==20.64
o=, 08

AW DWW &OW W I0W
HWaare=11,2867
FM5 =18.3372

H15W

six2014091112 +F120 UGRD200mb

kJE a Lﬁﬂ

| )
Ww ADW 2 TUW 2GR DW 0 &OW 0 SPM DOW 10w [ [T
Mir=-20.36 Waare=11.3414
Mae=d ) B AM5 =17.2373

six2014091112 +F120 UGRD200mb

H15W—-qgfzana

L™,

o
Win=-171.7
Wgr=13, T8

T e W
ean=0 054714

FUE =RATHIT




